Proncer

Loudspeaker

XY Series

Installation manual

XY-81
XY-101
XY-122
XY-152
XY-115S
XY-118S
XY-215S
XY-218S

8-inch two-way loudspeaker

10-inch two-way loudspeaker

12-inch two-way oudspeaker

15-inch two-way oudspeaker

15-inch bass reflex Subwoofer

18-inch bass reflex Subwoofer

Dual 15-inch quasi-bandpass subwoofer
Dual 18-inch bass reflex Subwoofer

http://pioneerproaudio.com/

Version 2.2 October 2!
©2014 PIONEER CORPOR;
All right reserved



Contents

1 Introduction
1.1 Before you start
1.2 Installation guidelines
1.3 System set-up

2 Accessories

3 Rigging And Caster Setting

3.1 Before Setting
3.1.1 Guide for safe use
3.1.2 Horn rotation
3.1.3 Logo badge replacement

3.2 Procedures
3.2.1 Vertical Flying Cradle
3.2.2 Horizontal Flying Cradle
3.2.3 Variable Angle Bracket
3.2.4 Dual Enclosure Flying Plate Set(*Dual + Variable)
3.2.5 Suspension of enclosure using the eye bolt
3.2.6 Wall Mount Bracket

3.2.7 Caster

4 System Configuratic
4.1 Connections
4.2 System setting

5 Drive unit replacement
5.1 Two-way loudspeaker
5.1.1 XY-81/101
5.1.2 XY-122/152
5.2 Subwoofer

5.2.1 XY-115S5/118S/218S
5.2.2 XY-215S

6 Specifications
6.1 Spec sheet
6.2 drawing



1 Introduction

WARNING

This loudspeaker must be installed by a qualified technician as it involves such tasks as selecting a location fo
installation, drilling holes in walls/ceiling and wiring. Have the installer carefully follow the installation instructio
Certain technical skills are required to install the loudspeaker. Please have the product installed by a professio
Pioneer is not responsible for any loss or damage that results from improper installation, insufficient strength o
installation materials, misuse, modification or natural disasters.

1.1 Before you start
Make sure to use amplifiers with rated load impedances that match the speaker impedance for the amplifiers
connected to each loudspeaker.

Furthermore, any devices or objects easily affected by magnetism (floppy disks, magnetic cards, magnetic tape
should be kept well away from the speakers.

In order to prevent damage to the loudspeaker resulting from input overload, please observe the following precat

If you supply amplification power to the loudspeaker excessively, the speaker could be damaged and overheat
cause a hazard.

Only connect, turn ON or OFF the audio system or any one part (such as DJ player and Mixer) when the powe
amplifier is turned off. If any operations are performed while the amplifier is turned on, there is the possibility of
damaging the treble frequency speaker unit.

When using a graphic equaliser to emphasise loud sounds in the high-frequency range, do not use excessive ¢
volume.

52 y2i OGNB {2 F2NOS | t26nLI26SNBR I YLX AFASNI éi2 LN
increased, and you may damage the speaker.

CAUTION: installation
Ensure that the floor or stage surface can withstand the weight of the system.
The installation technician must follow professional installation techniques to protect the loudspeaker against fe
When installing the speakers, make sure that the wall/ceiling is strong enough to support the speakers.
Improper installation of the speakers could cause them to fall and cause damage or injuries to persons nearby.
Do not attempt to stack devices together for use other than specified systems. Such devices may become unst
tip over or fall, leading to injury. Make sure to secure each device in place using the pole mount, ratchet straps
hardware to prevent them from tipping over or falling when stacking devices together. Pioneer shall accept no |
for damage or injury caused by accidents resulting from Pioneer products tipping over or falling due to them be
insufficiently secured.
Switch off and unplug your power amplifier and consult the instructions when connecting up components. Make
you use the correct connecting cables.

Keep magnetic objects such as screwdrivers or steel parts away from the tweeter and woofer speakers. Since
speakers use strong magnets, the objects may be attracted, causing injury or damaging the diaphragm.

Do not install the loudspeaker in areas exposed to direct sunlight or near heating appliances. Such conditions r
result in shrinkage of the wood materials and finish, leading to deformation of the enclosure, discolouration, or
damage to the speakers. Conditions considered unpleasant by humans are detrimental to speakers as well. Pr
comfortable environment for the speakers will assist them in demonstrating their best performance. Please mai
the usage environment as follows:

Temperature: 15°Cto 25 °C (59 °F to 77 °F)

Relative Humidity: 35 % to 65 % (winter)

40 % to 70 % (summer)

Do not store speakers at temperatures outside of the rated temperature range as doing so may cause the spec
drop in performance or become damaged.

Storage temperature range: ¢HNn cl i2 bpp c/ o¢cn c¢cC (G2 bmMomM c
Do not use the product in locations subject to extreme fluctuations in temperature. Doing so could cause the pr
to malfunction.

When using room air-conditioners or stoves to rapidly cool or heat room spaces, take precautions to avoid exc:
dehumidification.

Avoid placing the speaker near areas such as windows, as outside air can cause condensation to occur within
speaker.

This loudspeaker is designed for indoor use only. To avoid electric shock hazard, do not place them outside, ol
overly humid area.



1 Introduction

CAUTION: in use
Do not use the speaker to output distorted sound for long periods of times. This can result in a fire hazard.
Please also remember that vibrations from subwoofer systems can shake other loudspeakers out of place, whi

present a toppling hazard.
Do not attempt to use the product with the XY Series grille detached as doing so could result in damage to the
Consult a qualified professional for assistance with removing the grille for maintenance purposes.

For Europe

separate collection system for used electronic products in accordance with legislation that rg

ﬁ If you want to dispose of this product, do not mix it with general household waste. There is 3§
Emmm |proper treatment, recovery and recycling.

Private households in the member states of the EU, in Switzerland and Norway may return their used electroni
products free of charge to designated collection facilities or to a retailer (if you purchase a similar new one).

For countries not mentioned above, please contact your local authorities for the correct method of disposal.

By doing so you will ensure that your disposed product undergoes the necessary treatment, recovery and recy|
thus prevent potential negative effects on the environment and human health.

For U.S.A.
WARNING
This product contains chemicals known to the State of California and other governmental
entities to cause cancer and birth defects or other reproductive harm.
Wash hands after handling.

The Safety of Your Ears is in Your Hands
DSiG GKS Y2aid 2dzi 2F @2dzNJ SljdAaLIYSyd oé LXle&@Aay3 Al
without annoying blaring or distortion and, most importantly, without affecting your sensitive hearing. Sound cal
RSOSAGAYId hOSNI GAYSET @2dzNJ KSIENAY3I a02YF2NL f S@St
actually be loud and harmful to your hearing. Guard against this by setting your equipment at a safe level BEF(
hearing adapts.

ESTABLISH A SAFE LEVEL:

Set your volume control at a low setting.
Slowly increase the sound until you can hear it comfortably and clearly, without distortion.
Once you have established a comfortable sound level, set the dial and leave it there.

BE SURE TO OBSERVE THE FOLLOWING GUIDELINES:
52 y2i (dzNYy dz) 6 KS @2fdzyS a2 KAIK GKFG @2dz O yQi
Use caution or temporarily discontinue use in potentially hazardous situations.
Do not use headphones while operating a motorised vehicle; the use of headphones may create a traffic hazar

illegal in many areas.

About trademarks and registered trademarks

Pioneer is a registered trademark of PIONEER CORPORATION.
SpeakON is a registered trademark of Neutrik.

The names of companies and products mentioned herein are the trademarks of their respective owners.



1

Introduction

1.2 Installation guidelines

WARNING

Ensure that the floor or stage surface in question can withstand the weight of the system. Consult a qualified
professional for advice if the strength of the surface is unknown.

After installation, you must confirm that the speakers are safely installed. You must also periodically check the
make sure that they are still safe.

Wherever possible, avoid high stacks and use ratchet straps to secure loudspeakers together. Please also rem
that vibrations from subwoofer systems can shake other loudspeakers out of place, which may present a toppl
hazard. The use of ratchet straps and non-slip material is recommended to prevent this.

When this product is placed in an elevated place such as on a shelf or stage, a speaker may be moved by vibr,
fall to the floor, causing an injury or accident. Take measures to prevent a speaker from sliding off a shelf or a
etc.

Full-range loudspeakers
The XY-81, XY-101, XY-122 and XY-152 come with pre-inserted mounting screws. These screws can be taker
used to attach either special mounting hardware designed for the product or commercially available mounting
hardware.
Make sure to attach a wire for preventing falling parts and equipment of adequate strength using screw holes n
by mounting hardware.

WARNING

When attaching the speakers to the wall or ceiling, you should first confirm that the wall or ceiling being used is
enough to support their weight. If you are unsure then consult a specialist. If the speakers should fall then it co
to serious injury, and is potentially very dangerous.

Check to make sure that any mounting hardware used is enough to support the system, whether using special
hardware designed for the system or commercially available hardware. Make sure to read the Introduction sec
this manual and the instruction manual for the mounting hardware thoroughly before proceeding. Take every
precaution to prevent the product and associated parts from falling as they could cause serious injury if they fe
person.

Use screws suitable for ceiling material and screw mounting parts in solid locations.

Make sure to use mounting hardware of sufficient strength to secure the speaker in place when using non-desi
hardware. The speaker could fall, causing accidents,if not properly secured.

The fall prevention wire must be attached to a suitably strong location. The strength of the location to which thq
attached being insufficient can lead to the speakers falling or cause accidents. The fall prevention wire and scr
attach the fall prevention wire to the ceiling or wall are not supplied with the speakers, so please purchase ther]
separately.

Subwoofers
A pole mount can be attached to the XY-115S, XY-118S and XY-215S. The pole mount can be attached by in<
screwing it into the holes.

WARNING

Check to make sure that any mounting hardware used is enough to support the system, when using commerci
available hardware. Make sure to read the Introduction section in this manual and the instruction manual for th
mounting hardware thoroughly before proceeding. Be careful not to place any devices or other equipment on t
the system as such devices could fall, causing severe injury.

Make sure to install the system in a stable location if using a pole for mounting.

Make sure to use mounting hardware of sufficient strength to secure the speaker in place. The speaker could f
causing accidents, if not properly secured.




1

Introduction

1.3 System set-up

WARNING

Loudspeaker systems are potentially dangerous objects if used incorrectly. Please ensure that you read this sq
fully, and contact your local dealer should you be in any doubt over correct operation procedures.

Professional loudspeaker systems are capable of producing damage-inducing sound pressure levels, and hen
should be taken when setting your system up, particularly when it comes to loudspeaker placement within a ve)
Damage to the ear can result from levels above 90 dB under prolonged exposure.

X¥-115S5/X¥118S X¥-215S

L L
B .-

Stand mounting

The XY-81, XY-101, XY-122 and XY-152 can be mounted from a loudspeaker stand using the integral polemo
for a standard 35 mm (1.4 in.) loudspeaker stand.
When mounting in this way,please consider the following:
Ensure your stand height is locked off and the tripod legs are positioned so as to be stable.
Check the weight loading of your stands before attempting to mount the loudspeaker.
Do not stack a second loudspeaker on top of the stand-mounted one.
Ensure cables are run so as to leave enough slack to enable neat wiring, and thus reduce the risk of the s
being pulled over. Loose cables should be covered or taped down wherever possible to reduce trip hazar
When using poles on top of subwoofer systems, please observe similar precautions.

Pole-mounted full-range loudspeakers from the XY-115S, XY-118S and XY-215S

The XY-115S, XY-118S and XY-215S can support other loudspeakers using an M20 threaded pole adapter. W
mounting in this way, please consider the following:
Ensure the M20 pole is screwed in tightly, your stand height is locked off and the system is stable.
Do not stack a second loudspeaker on top of the stand-mounted one.
Ensure cables are run so as to leave enough slack to enable neat wiring, and thus reduce the risk of the s
being pulled over. Loose cables should be covered or taped down wherever possible to reduce trip hazar

Note: When you want to combine the XY-81, XY-101, XY-122 or XY-152 enclosure with the XY-115S, XY-1
215S enclosure, ensure you use a commercially-available pole, where one of the edge is M20 thread:
the other is 35mm diameter as shown below.

X¥-81/XY-101
X¥-122/XY-152

LA
Q
Ld
-
o -
& *
D *
» -
pusnanny ‘asssssssEsEEEEEEEEEEEEEEE,

XY-115S/X¥Y118S/X¥215S XY-81/XY-101/X¥Y-122/XY¥-152
M20 screw threaded pole socket bottom
35mm pole socket

" 4

M20 screw
threaded pole

35mm pole




2 Accessories

WARNING

The overhead suspension of loudspeakers is a very serious issue with potentially lethal consequences should
go wrong.

Rigging should only be carried out by experienced personnel following safe working practice.
Should you be in any doubt whatsoever, please contact the retailer or dealer from which you purchased this pr

When utilising any suspension meth@dsecondary safety feature must be usdgor any suspension method, fit an
eyebolt to any of the rigging points.

A safety steel can then be attached to this and connected to your safety point.

Hardware standby

The following hardware is provided with the XY series products so that commercially-available poles, brackets and othe
can be attached.

(see Table 2-1 and 2-2 "Hardware standby")

Caution Check to make sure that any commercially available mounting hardware used is enough to support tt
weight of the speaker system.

If you use any commercially available eyebolt, ensure it is the same size as in the list below and have
strength to withstand the weight of the loudspeaker.
M10 x 30mm, P=1.5, Safe Working Load limits: 1.47[kN] (150[kg]) and more
M8 x 15mm, P=1.25, Safe Working Load limits: 0.785[kN] (80[kg]) and more
Please follow an instruction manual for a commercially available product for installation and safety me

Accessories List

All the supplied accessories for XY series are listed in the following "Accessories List".

(see Table 2-1 and 2-2 "Accessories List")

Please ensure that you read "Section 1: Introduction” and "Section 3.1 - 3.2" fully, and have the product installed by a
professional.

Have the installer carefully follow the installation instructions.



2 Accessories

Table 2-1  Two-way loudspeaker

XY-81 XY-101 XY-122 XY-152
4 x M6 4 x M8
Wall Mount Bracket threaded <- threaded <-
points points
Eyebolts M8(*2) <- M10 (*3) <-
Hardware 35 mm
standby Speaker Pole polemount <- <- <-
socket
35 mm
Tripod Stand polemount <- <- <-
socket

Vertical Flying Cradle

*1) CP-XY8VC] CP-XY10VC] CP-XY12VC] CP-XY15VC

Horizontal Flying Crad
(*1)

Accessories | variable Angle Bracke
List - - CP-XY12AB] CP-XY15AB]

(*1)

Dual Enclosure Flyin

CP-XY8HCYl CP-XY10HC] CP-XY12HC] CP-XY15HC

Plate Set - - CP-XY12DF] CP-XY15DF]
(*1)
Caster set - - - -
Refer to
Setting procedure Section 3.2.1 - 2 Refer to

Section 3.2.1 -6

Section 3.2.5 -6

*1 Eye bolts to be used as secondary safety feature are not included with the products.
When you use any commercially available eyebolts, please use the eyebolts meetin(
following size and specification.

*2 M8 x 15mm, P=1.25, Safe Working Load limits: 0.785[kN] (80[kg]) and more

*3 M10 x 30mm, P=1.5, Safe Working Load limits: 1.47[kN] (150[kg]) and more

Table 2-2  Subwoofer

XY115S XY118S XY-215S XY-218S
M20 2 x M20
Hardware polemount
Speaker Pole polemount <- -
standby socket sockets
(top,right side)
Acczssstorles Caster set - CP-XYCS1 <- <-

Refer to

Setting procedure Section 3.2.7




2 Accessories

White socket cover seal for the white models

Applicable models:
XY-81-W : 1 piece of white seal is shipped with XY-81-W.
XY-101-W : 1 piece of white seal is shipped with XY-101-W.
XY-122-W : 1 piece of white seal is shipped with XY-122-W.
XY-152-W : 1 piece of white seal is shipped with XY-152-W.
XY-115S-W : 1 piece of white seal is shipped with XY-115S-W.
XY-118S-W : 1 piece of white seal is shipped with XY-118S-W.
XY-215S-W : 2 pieces of white seals are shipped with XY-215S-W.

NOTE: White plastic seals to cover the black pole socket is included in the above models.
A white seal can be attached to an unused black pole socket as you like.
Please follow the instructions below.

Part List
Item Part Name Service Part No.
A Pole cover 08A501 Service Part Qty is 1piece.
Procedure

(1) White seal (A) is included inside of the packing box. (Fig.2-1)
(2) Carefully remove the tip of the cover of the double-face tape on the white label(A), then peel it off.
(3) Place the white seal (A) to fully cover the top of the pole socket. (Fig.2-2)

Polesocket

Fig.22
*XY-118S-W is shown in the illustration.



3 Rigging And Caster Setting
3.1 Before Setting
3.1.1 Guide for safe use
Improper installation of the speakers could cause them to fall and cause
damage or injuries to persons nearby. Please check the following conditio
all the loudspeakers in this series always before they are rigged.

WARNING:

INTENDED USAGE

Do not use any other method than the one prescribed in this manual.
The XY Series rigging components must only be used in conjunction with
Series loudspeakers.

SAFETY CAUTIONS

Ensure and check all the speaker riggings are sufficiently secure to be use
before using them. Damaged components must be withdrawn from use
immediately. Ensure the supplied bolts are used to fix the rigging accesso
instead of the pre-inserted screws.

EYEBOLT STRENGTH

When you use any commercially-available eyebolts, please use the eyebc g 4/ 45 [deg]
meeting the following size and specification:

XY-81/101: M8 x 15mm, P=1.25, Safe Working Load limits: 0.785[kN] (80~
and more.

XY-122/152: M10 x 30mm, P=1.5, Safe Working Load limits: 1.47[kN] (15!
and more.

The safe working load limits of an eyebolt are different depending on an
inclined angle of the wire attached to the eyebolt. If the suspension angle «
the wire attached to the eyebolt is inclined (not vertical) and correctly orier
in the plane of pull, be sure to read the catalogue of the eye bolt for details
the safe working load limits depending on the inclined angle. It is generally
recommended that an angle of the wire attached to the eye bolt correctly
oriented in the plane of pull be 45 degrees at maximum. Do not suspend tl
eye bolts as shown here.

THE SECONDARY SAFETY FE

The secondary safety feature must be ustalprevent the speaker from
falling. Eye bolts to be used as secondary safety feature are not included \
the products. When you use any commercially-available eyebolts, the abo
listed safe working load limits and other specifications should be met.

Ensure a wire or a chain to be used as secondary safety feature is secure
suspended vertically from the ceiling or wall

If such a wire or a chain is suspended from the inclined ceiling or wa
it is horizontally suspended, the wire or the chain would not be effec!
to prevent an accidental fall.

An appropriate length of wire or chain should be used as second safety
feature. It is generally recommended that the fall prevention wire be 100 r
longer than the main suspension wire/chain/tool.

If the wire or the chain is too long, it would not be effective enough t
prevent an accidental fall.




3 Rigging And Caster Setting

CAUTION:
PREPARING THE CABINET
Pre-inserted M10 and M8 screws are mounted in the top, bottom, rear, lef

right side of the loudspeaker enclosure. These screws are painted in the ¢
color.

Follow the steps below to ensure the cabinet paint is not peeled off during
unscrewing.

(1) Make a small slit around the pre-inserted screws using an appropriate

cutting knife.

@ 2
(2) Carefully remove the screws using a screwdriver, and ensure the cabir / .
coating is not peeled off. '




3 Rigging And Caster Setting

3.1.2 Horn rotation
HF dispersion orientation on XY-81/101/122/152 can be changed by rotating the HF waveguide 90 degrees. (Fig.3-1-{

NOTE: X¥22 is shownn the illustration

reEeEEEEEEEEEEEEEEEEEm—-- 1 I ____—_—_—————— 1
1 11 1
| = 11 = I
1 11 1
I )60deg ! | > 90deg |
1 11 1
1 D 11 = |
1 11 1
| 11 1
1 11 1
| Ly 11 Ly |
1 11 1
| 11 1
1 11 1
1 11 1
1 11 1
| 11 1
1 11 1
I [ — Atter rotating I
1 Factory default 1 1 60deg the waveguide !
| 11 1
1 11 1
L o e e e e e e e e e o N |
Required tools

XY-81/101 XY-122/152

3mm hex key 4mm hex key 4mm hex key

Procedure

(1) Using a hex key, unscrew the bolts which fasten the grille to the botr ~ NOTE: X¥22 is shown in the illustratior
and bottom of the enclosure. \

4 bolts from XY-81/101/122 and 6 bolts from XY-152 are needed to |
removed from each enclosure.

(2) Gently remove the grille from the front of the enclosure. (Fig.3-1-2-A

(3) Using a hex key, remove the bolts holding the HF waveguide in plac
(Fig.3-1-2-B)

4 bolts from XY-81/101 and 8 bolts from XY-122/152 are needed to |
removed from each enclosure.




3 Rigging And Caster Setting

(4) Lift the waveguide up and rotate it 90 degrees to change the dispers
orientation depending on the orientation of the enclosure. When the
waveguide is rotated back to the original orientation, ensure it is rota
in the reverse direction when it was first rotated. (Fig.3-1-2-C)

(5) Reinstate the bolts and retighten. Avoid over tightening as this may ¢
the waveguide.

(6) Reinstate the grille by gently placing it in place over the front of the
loudspeaker.

(7) Reinstate the bolts to secure it in place.




3 Rigging And Caster Setting

3.1.3 Logo badge replacement
The location of Logo badge attached to the grilles on XY-81/101/122/152 can be changed.

Required tools
XY-81/XY-101 XY-122 / XY-152
Phillips head screwdriver  3mm hex key Phillips head screwdriver 4mm hex key

@ /7

NOTE: X¥22 is showrn the illustration

Procedure
(1) Using a hex key, unscrew the bolts which fasten the grille to the bot
and bottom of the enclosure.

4 bolts from XY-81/101/122 and 6 bolts from XY-152 are needed to
removed from the each enclosure.

(2) Gently remove the grille from the front of the enclosure.
(Fig.3-1-3-A)

(3) Unscrew the screw on the rear side of the Logo badge and remove
Flat washer and the Spacer. (Fig.3-1-3-B)

(4) Relocate the Logo badge to the desired position on the grille. The L
badge can be rotated 90 degrees depending on the orientation of th

enclosure. (Fig.3-1-3-C) Fig.31-3-A

(5) Reinstate the grille by gently placing it in place over the front of the
loudspeaker. (Fig.3-1-3-D)

(6) Reinstate the bolts to secure it in place. (Fig.3-1-3-E)




3 Rigging And Caster Setting

CAUTION:

XY-81/101 Location where the Logo badge should be attached:
The Logo badge can be attached to only the limited locations on the grille
Please see the Fig.3-1-3-F, G, H, I. If the Logo badge is attached to other
locations than the specified ones, the speaker could be damaged. Ensure
Logo badge is attached to the specified area.

XY-81

Top

DONOT A A OGO BA
Do0d = ——Lff,iji;f,f,&fi;;_,,:,,@g@
00 o [0

DONOT ATTACH
THE LOGO BADGI

DONOT ATTACH
THE LOGO BADGI

DONOT ATTACH THE LOGO BAL

Bottom VNN Any part of the LOGO BADGE
should not protrude to the gray area.

Fig.31-3-FFor vertical installation (X381)




Rigging And Caster Setting

Top

Bottom
- St 3090803 0R086908080803:8 1|
XROB0 =X [ee e te e R0R0E088
e R3] Promeer BRss
DONOT A A
OGO BAD(
DONOT A A =
OICION=YA\D
<& = ROROF -
00 [SoR3e565C¢ = SO N
9@880000000000000008 SRR & o
A
A plate
supporting
the grille
see

8 holes

8 holes

_ORORURDROR
\ [Ehermheaer /‘

DONOT ATTACH
THE LOGO BADGI

N

DONOT ATTA

OROROZO)
SRR,

ORORO,
COCCROR0)

A plate supporting
the grille 1
L]

[Prenssr.

OrORORORO

[0[@)

8:eiesizess e

DONOT ATTACH THE LOGO BAL

CIVNMZEN  Any part of the LOGO BADGE
should not protrude to the gray area

Fig.31-3-GFor horizontal installation (X¥81)




3 Rigging And Caster Setting

XY-101

DO NOT ATTACH THE LOGO B/

IE
DO NOT ATTACH ieiel e

THE LOGO BADGI DO NOT ATTACH THE LOGO B#

DO NOT ATTACH THE LOGO B/
S *
DO NOT ATTACH Premnssr Y

SISISIIe,
THE LOGO BADGI Elt-e_to_séu)

DONOT ATTACH THE LOGO BAL
CLRVN VS Any part of the LOGO BADGE
should not protrude to the gray are

Bottom
Fig.31-3-HFor vertical installation (X¥.01)

Bottom

TOp < >
7 holes
8 holes
DO NOT A A
OGO BADGC |
lone
J
A DO NOT ATTACH
/ \ THE/LOGO BADG!I
|
________ K|
ORORORO ] S
OROROXO 9
EOS0R0RRA N

ORORORO

D @)=\ ‘ o) A plate
RO OO OO OO O OR=O) .

PDECRORCROLOECROLORCLOECROLORCROE0 supportin
DRe O Xe Lo Ve e Xe Lo e Lo e % Lo e % thpepgri"eg

DONOT ATTACH THE LOGO BAL
[CIRUNVAZAN  Any part of the LOGO BADGE
should not protrude to the gray area

Fig.31-3-1 For horizontal installation(X¥101)




3 Rigging And Caster Setting

3.2 Procedures
3.2.1 Vertical Flying Cradle
When using the Vertical Flying Cradle, suspension of the XY-81/101/122/

. o ) o . , To the ceiling
enclosure vertically from the ceiling as shown in the right figure is availabl

Speaker models compatible with respective Vertical Flying Cradles are st N ?
in the table below. —*
Table.3-2-1-A: Models compatible with respective Vertical Flying Cradles » :
No. Use model \\*\ A
CP-XY8VC1 XY-81 \ VL
CP-XY10VC1 XY-101
CP-XY12VC1 XY-122 4
CP-XY15VC1 XY-152 A

R

NOTE: XY22 is shownn the illustration

WARNING:
Vertical Flying Cradle is not supposed to be used in the following situations, which may cause an injury or acg

For all the models, the following situations are quite danger:

The outer yoke of
the cradle is not
vertical to the ceiling

The enclosure is not
horizontal to the
ceiling

Suspending
from the wall

Suspending
multiple enclosures

Only for the following model:
CP-XY8VC1/XY10VC1/XY15VC1l

Inclining over
75 deg (X¥81/101),
45 deg (X¥52)




3 Rigging And Caster Setting

Part list (CP-XY8VC1)

A Vertical Flying Cradle 1 -
Outer Yoke 1 -
Inner Yoke 1 -
Neoprene Washer 2 05B010 40mm x 2mm
Flat Washer 2 06D009 M8
Spring Washer 2 06D011 M8
Knob 2 05A101 M8
B M8 countersunk bolt 3 06G019 M8 x 30mm (P=1.25)

5mm hex socket head

Part list (CP-XY10VC1)
Item Part Name

Qty Service Part No. Note

Required tools
Screwdriver

RN

5mm hex key

S

A  Vertical Flying Cradle 1 -
Outer Yoke 1 -
Inner Yoke 1 -
Neoprene Washer 2 05B010 40mm x 2mm
Flat Washer 2 06D009 M8
Spring Washer 2 06D011 M8
Knob 2 05A101 M8
B M8 socket head bolt 3 06G055 M8 x 45mm (P=1.25),
6mm hex socket head
C  Spring Washer 3 06D011 M8
D Flat washer 3 06D009 M8

Required tools
Screwdriver

™\

6mm hex key

>

Part list (CP-XY12VC1)

Iltem Part Name Qty Service Part No. Note

A Vertical Flying Cradle 1 -
Outer Yoke 1 -
Inner Yoke 1 -
Neoprene Washer 2 05B011 60mm x 2mm
Flat Washer 2 06D014 M10
Spring Washer 2 06D015 M10
Lever 2 05A103 M10
B M10 socket head bolt 3 06G052 M10 x 70mm (P=1.5),
8mm hex socket head
C Spring Washer 3 06D015 M10
D Flat washer 3 06D014 M10

Required tools
Screwdriver

AN

8mm hex key

D

Part list (CP-XY15VC1)
Item Part Name

Qty Service Part No. Note

Required tools

A Vertical Flying Cradle 1 - Screwdriver
Outer Yoke 1 -
Inner Yoke 1 -
Neoprene Washer 2 05B011 60mm x 2mm
Flat Washer 2 06D014 M10
Spring Washer 2 06D015 M10
Lever 2 05A103 M10 8mm hex key
B M10 socket head bolt 3 06G052 M10 x 70mm (P=1.5),
8mm hex socket head
C  Spring Washer 5 06D015 M10 /\
D Flat washer 5 06D014 M10
E  M10 socket head bolt 3 06G053 M10 x 30mm (P=1.5),
8mm hex socket head
F Load Plate 1 -




3 Rigging And Caster Setting

Procedure (CP-XY8VC1/XY10VC1/XY12VC1/XY15VC1) OTE: X¥22 is showrin the il ions bel
(1) Remove the pre-inserted mounting screws from the top of enclosurl\(j TE: X122 1s shown the illustrations belov

The number of screws to be removed from XY-81/101/122 is 2 (The E

location is shown in Fig.3-2-1-A) and from XY-152 is 4. i -
Only XY-152 g - *
NOTE: In addition, Using the supplied two M10 socket head bolts(E \_/

align the mounting holes in the load plate(F) with the mounting poin
the top of the enclosure. Tighten the bolts over 15N-m torque. (Fig.:
1-B)

Fig.32-1-B

(2) Using the supplied two bolts(B), align the mounting holes in the inne
yoke of the Vertical Flying Cradle(A) with the mounting points on the
of the enclosure. The installation method depends on the model yot
use. Please follow the steps below for further details when installing
such a model. (Fig.3-2-1-C)

XY-81:

Using the supplied two M8 countersunk bolts(B), align the mounting
holes in the inner yoke of the Vertical Flying Cradle(A) with the
mounting points on the top of the enclosure. Tighten the bolts over
m torque.

XY-101/122/152:

Using the two socket head bolts(B), align the mounting holes in the
yoke of the Vertical Flying Cradle(A) with the mounting points on the
of the enclosure. (Fig.3-2-1-C)

WARNING: The Vertical Flying Cradles should be installed to the X|
122/152 enclosure in a specific orientation. Please see Fig.3-2-1-D
install the Vertical Flying Cradle to the enclosure in the correct
orientation.

nly XY152

Ensure that both the Flat Washer(D) and the Spring Washer(C) are
the Flat Washer(D) should be in contact with the cradle. Tighten th
bolts over 15N-m torque (Only XY-101: 7N-m torque). (Fig.3-2-1-C




3 Rigging And Caster Setting

(©)

4)

©)

(6)

Once the desired angle of the loudspeaker is set, tighten the
knobs/levers on the cradle to lock the position in place.
(Fig.3-2-1-E)

The hole on the outer yoke of the Vertical Flying Cradle (A) can be
to install the speaker to the ceiling. (Fig.3-2-1-E)

Remove the pre-inserted mounting screw on following point of the
enclosure.

XY-81/101/122:

the front part or rear part of the top point on the enclosure
XY-152:

the upper rear part on the enclosure

Ensure the commercially-available eyebolt is secured to the mountil
point to suspend it with wire as a secondary safety feature. (Fig.3-2:

Commercially
available
eyebolt

Only XY152

Commercially
available
eyebolt

Fig.32-1-F



3 Rigging And Caster Setting

3.2.2 Horizontal Flying Cradle

When using the Horizontal Flying Cradle, suspension of the XY-
81/101/122/152 enclosure horizontally from the ceiling or the wall as shc
in the right figure is available. The orientation of the enclosure can be To the ceiling
changed at any angle.

NOTE: X¥22 is showrn the illustratior

Several holes on both sides of the outer yoke of the cradle are used to ¢
the length of the outer yoke so that the distance between the enclosure ¢
the cradle can be adjusted. The factory default sets the distance betwee
enclosure and the cradle at the nearest position. If you want to connect ¢
speaker cable and incline the enclosure, please select a different hole or
outer yoke to enlarge the distance.

Speaker models compatible with respective Horizontal Flying Cradles ar
shown in the table below.

Table.3-2-2-A: Models compatible with respective Horizontal Flying Cradles
\[o} Use model

CP-XY8HC1 XY-81

CP-XY10HC1 XY-101

CP-XY12HC1 XY-122

CP-XY15HC1 XY-152

Table.3-2-2-B: Installation to the ceiling and wall

Install to the wall

Part number Install to the ceiling .
Vertical Horizontal
CP-XY8HC1 Available Available Available
CP-XY10HC1 Available Available Available
CP-XY12HC1  Available Installation ——iable
prohibited
CP-XY15HC1  Available Installation - iable
prohibited

Note: The dispersion orientation when placing the XY-81/101/122/152
enclosure horizontally will be changed from the orientation when placing
vertically. Rotate the horn inside of the enclosure to reverse the dispersic
orientation to the original orientation when it is placed vertically. Also, the
location and the orientation of the logo badge can be changed. (See "3.1
Horn rotation" and "3.1.3 Logo badge replacement”)




